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YO1. 

Y02. 

T03. 

Y04. 

T05. 

Y06. 

T07. 

T08. 

() 

() 

() 

() 

() 

() 

() 

() 

(*) 

() 

(*) 

(a) 

() 

() 

(+) 

() 

() 

() 

3T 

qerf 

() 

(a) 

(a) 311-141R 

() 

(a) 

() 

() 

(a) 

() 

(a) 

(E) 

(u) 

(a) 
[1) 

faarr 



909. 

y11. 

912. 

y13. 

914. 

() 

() 

(a) 

() 

() 

() 

() 

() 

(aa) 

() 

(6) 

() 
0.15. "ADVISE" is : 

(a) 

(c) 

Noun 

(c) 

Adjective 

(a) Metaphor 

(c) 

Simile 

(a) Bunch 

() 

Q.17. The collective noun for 'sailors' is: 

() 

Posse 

(a) 

() 

(a) jR 

(E) 

() 

(a) 

Q.16. The figure of speech in "The holy time is a quiet as a nun" is: 

(u) 

() 

(b) 
(d) 

(b) 

() 

(b) 

(d) 

Verb 

[2] 

Adverb 

Hyperbole 
Pun 

Group 
Crew 



Q.18. "ARCHAIC" means: 

(a) 
(c) 

(a) too 

(c) very 

(a) 

Q.19. Choose the most appropriate word fromn the given options to fill in the blank: 

(c) 

Q.20. Choose the correctly spelt word: 

I am feeling 

(a) 

(c) 

(a) 

(c) 

Decent 

Clumsy 

(a) 

Q.22. A group of lion is called: 

(b) 

(c) 

(d) 

(a) 

(c) 

Dantel 

Dental 

(a) 

Q.21. A short journey made by a group of persons together is: 

(c) 

Hike 

Picnic 

pack 

pride 

better today 

Rajesh said, "I bought a car yesterday" 

(b) 

Homnym 

(d) 

Nick name 

Q.25. Who wrote the poem 'Fire and Ice': 

(d) 

John keats 

(b) rather 

(b) 

Words worth 

(d) 

(b) 

Q.23. Choose the one which best expresses the same sentence in Indirect speech: 

(d) 

(b) 

(d) 

Modern 

Primitive 

Q.24. An imaginary name assumed by an author for distinguish: 
(b) 

Rajesh said that I have bought a car yesterday 

(d) 

fairly 

Rajesh said that he had bought car the previous day 

Rajesh said that the bought a car the previous day 
Rajesh told that he had bought a car yesterday 

(b) 

[3] 

Dantal 

(d) 

Dentel 

Excursion 
Stroll 

herd 

pace 

Pet name 

Pseudonym 

Robert Frast 

P.B. Shelley 



Q.26. Choose the correct synonym for the word given: "GENRE" 

927. 

Q.27. Honey mainly consist of: 

(a) Nature 

928. 

(c) Kind 

(a) 

930. 

(c) 

() 

() 
Q.28. Yeast is important source of: 

(a) 

(c) 

() 

(a) 

(c) 

Monosaccharides 

() 

Polysaccharides 

(a) 

Protein 

(c) 

Vitamin-C 

(a) stary 

Iron bacteria 

Archae bacteria 

(b) 

towards cell body 

(d) 

away fromlynapse 

(b) 

(d) 

(a) 

(a) 

Q.29. Yields of paddy field can be incrcased by application of: 

(b) 

(d) 

(a) 

() 

(b) 

(d) 

Story 

(b) 

Gender 

(d) 

Disaccharide 

Q.30. Inthe axon ofmotor nerve fiber the nerve impulse travels: 

Fat 

[4) 

Riboflavin 

Sugar 

(a) i*/yAIAT 

Nostoc/Anabaena 

Symbiotic bacteria 

away from cell body 
in both direction 

(a) T 



Q.31. Black (stem) rust of wheat is caused by: 

(a) 

(c) 

() 
() 

(a) 

(c) 

() 

() 

Q.32. The haemoglobin content per 100 ml of blood of a normal healthy blood is: 

(a) 

() 

Xanthomonas aryzae 

(a) 

Ustilago nuda 

(a) HCOOH 

(c) 

(c) CH,COOH 

() 

12 - 16 g 

() 

(a) 

25-30 g 

12 -16 UTH 

25 -30 VTA 

HCOOH 

CH,COOH 

Nuclear fission 

0.33. Which one of the following is mineral Acid ? 

Natural radioactivity 

Q.35. Fe+ Sn2 Fet+ Snt4 

OxidisingAgent- Fe 

(b) 

ReducingAgent- Sn' 

(d) 

+3 

E) 

+2 

() 

(b) 

(d) 

(u) 

(a) 

Q.34. Hydrogen Bomb is based on the principle of: 

(b) 

(d) 

(a) 

(a) 

(b) 

[5] 

(d) 

(e) 

Alternaria Solonai 

() 

Puccinia Graminis 

5-11 g 
17-20g 

5-11 ITA 

17- 20 UTH 

H,C,0, 

H,C0, 

The oxidising and Reducing Agent in above Reaction is: 

H,C,0, 

H,CO, 

Nuclear fusion 

Artificial radioactivity 

(b) Oxidising Agent- Fe +2 

Reducing Agent- Sn" 



(c) 

(6) 

() 

yO35. 3ffh Oxidising T Reducing Agent : 

(a) 

(b) 

(c) 

(d) 

(a) 

Q.36. Choose the correct option: 

() 

(e) 

OxidisingAgent- Sn' -

(a) 
(b) 

Reducing Agent- Fe J 

(c) 

+2 

(a) 

Fe* + Sn ’ Fe* + Sn 

Oxidising Agent-Fe" 

Reducing Agent-- Sn 
+2 

OxidisingAgent- Sn 

Reducing Agent- Fe 

(a) K,Cr,0, À 3iicft 

+2 

NRHyd 

Percentage ofoxygen in K,Cr,0, is 25% 

(d) 

Number of Natoms in 100g of N, is 4.30 lx 10" 

9GRIG 25% 

sâ HIAT, 1.5 Ht Na,SO, 48 TTH 

(a) 

Number of Natoms in 100g of NH, is 1.41 x 10" 

HT, 100 UTH I3g0u 

Amount ofS present in 1.5 moles of Na,SO, is 48g. 

1.00 g ofNaCl+ 100g. ofwater 

0.11g. ofNaCl + 100 g. of water 

() Oxidising Agent- Fe 

0.01g. ofNaCl+99.99 g. ofwater 

Oxidising Agent- Sn 

0.10g. ofNaCl+99.90 g. ofwater 

Reducing Agent- Fe 

[6] 

NyRHIU HN, 100 WTH 3-TfA1.41x 10 

Reducing Agent- Sn 

0.37. Arun has prepared 0.01% (by mass) solution of Sodium Chloride in water. Which 
of the following correctly represent the composition of the solution: 

+4 

Oxidising Agent- Sn 

+2 

ReducingAgent- Fe* 

4.301 x 10 

() y eNIgS 0 1.00 UTH + Yr T 100 VTH 

+4 

+4 



(a) 

9038. 

() HIGYH �tNISS TT 0.01 UTH+ Y0 oT 99.99 TH 

() HIGTH �ÌRISS T0.10 WTH + YÌ T 99.90 YTH 

Q.38. The average density g ofearth in terms of g, Gand R is: 
(a) 

(c) 

() 

(a) 

(c) 

(a) 

() 

HIGTH GelNIsS oT 0.11 UTH + Y0 oT 100 TTH 

(a) 

(c) 

(a) 

() 

47 GR 

3rt GR 

m 

2g 

4g 

4T GR 

8 11 

2g 

3rt GR 

2 times 

8 times 

4g 

m/sec 

Q.39. If the distance between two object is increased 4 times, then by how much times 
will the mass of one object be changed to maintain the same gravitational force: 

2 

(b) 

(d) 

(a) 

() 

(b) 

(d) 

(a) 

(a) 

(b) 

(d) 

Q.40. Unit ofphysical quantity which represent area under v -1 graph: 

(a) 

4 1T 

47 GR 
3g 

4 times 

T GR 

m 

8 

(a)te 

4T GR 

16 -1T 

3g 

T GR 

16 times 

kgm/see 



Q.41. Focal length of convex lens and concave mirror is: 

(a) positive, positive 

(c) 

() 

(T) 

(a) 0.22 

(c) 

() 

() 

(a) 

(c) 

Q.42. What is the minimum resistance which can be made using five resistors each of 

(a) 

() 

negative, positive 

(a) 

(b) 

(c) 

0.12 

(d) 

0.22 

0.12 

10 cm 

22 cm 

10 # 

22 

(b) 

Q.43. Alens of focal length 20cm is used to produce a ten times magnified image of a film slide on a screen. How far must the slide be placed from the lens: 

Decreases 

(d) 

Increases 

(a) 

No change in reading 

(a) 

(b) 

(a) 

(a) 

(b) 

(a) 0.042 

(d) 

() 

positive, negative 

(a) 

negative, negative 

First increases and then becomes. 

0.042 

[8] 

25Q 

Q.44. A monkey is sitting at a spring balance that reads 60 kilograms. When monkey jumped off the balance what will be the reading on balance: 

25 2 

20 cm 

25 cm 

, U|THG 

20 

254 



(a) 

Y045. 

(ra) 

(T) 

(a) 

Q.45. As light travels from a rarer to a denser medium. It will have: 
(a) 

(b) 

(c) 

(d) 

() 

() 

(a) 

(c) 

() 

Q.46. The speed of sound is maximum in: 

() 

increased velocity 
decreased velocity 

(b) 

decreased wave length 

(c) 

both'b'and 'c' 

Copper 
Water 

Area ofcircle <area of square 

() 

Area ofcircle> area ofsquare 

(e) 

(d) Nothing definite can be said 

(b) 

(a) Area ofcircle =Area of square 

(d) 

Q.47. Ifthe circumference of a circle and the perimeter of a square are equal then: 

(a) 

(a) 

Air 

[91 

Vacuum 



(a) 

(a) 

() 

(a) 

Q.48. The are of shaded Region is: 
(a) 

(b) 

(c) 

() 

() 5-6) 

(a)-o) 

(a) 

3 

(a)4+-8) 

(c) 

25 

()5-s) 

5-a) 
25(45-) 
655-) 
3 

Q.49. The value of N12+2/6+ 2/21+2/14 is: 

(a) 

(b) 

(c) 

(d) 

() 2+ V5 +5 
() 3+2+i 

J2+3+5 

H049. 2 +2/6+2/21+2/14 H7 T: 
3+V2+1 

Q.50. Which among the following statement is true: 
x4 

(b) 

(d) 

X 

(a) 
(a) 

None of these 

5cmy/ 

5cm, 

J3x++ 5x² isaquadratic polynomial 

[10] 

A 

10cm 

Anon zero constant polynomial has one zeró 

B 

W2+3 +7 

A 

10cm 

3+ 2+5 
J2+3+ 

Every real number isa zero of the zero polynomial 

E 

10cm 

10cm 

10cm 

10cm 

P 



() 3x + *+5x² yo ftUTT TAtorU t 

() 

(E) 

0.51. In a AABCif ZA-B=35" and ZC-ZB=34° then: 

(a) 

(c) 

(a) 

X 

ZA=71° 

ZA+ZB =109° 

LA=71° 

() ZA+ZB =109 

9O51. af tAABC À ZA-ZB=35° str ZC-ZB=34 at at: 

(a) -1 

Q.53. If x= 

sina T HH IT: 

() -1 

YO53. yf x= 

V5+2 
V5-y=. 

Q.52. If sina + sinß + siny=3 then the value of sin'a + sin'ß + sin'y - 2sina sinß-2sinß 
siny-2 siny sina is: 

(c)6+12/0] 
V5+2 

(b) 

5-/2 
V5+2 

y= 

() 

() s6/0 -12] 

9O52. t sina. + sinß + siny=3 t sin'a+ sin'ß + sin'y - 2sina sinß-2sinß siny-2 siny 

5-V2 
V5+N2 

-2 

(b) 

(d) 

3 

-2 

(a) 

() 

(b) 

ZB=72 

() 

ZA+ZC=1420 

() 

B=72 

(a) 

LA+ZO=142 

then the value of 3x+4xy-3y is: 

[11) 

(c) -3 

() -3 

t 3x'+4xy-3y 1 H ST: 

6/0-12] 

(d) 

(a) 



Q.54. The curved surface area of a hemisphere of radius 6cm. is equall to 2/5 of the curved surface area ofa cone ofradius 12cm. The volume ofcone will be: 

(a) 1357.71 cm' 

(c) 

() 

(r) 

(a) 

(c) 

ofa and bis: 

() 

() 

red is 

(a) 

(c) 

1252.61l cm 

() 

1357.71 cm 

(a) 

1252.61 cm' 

Q.55. If a<b<2a and median and mean of a,band 2a are p and q respectively then mean 

3q+2p 

(c) 

3q+2p 

3q+2p 
3q +2p 

3 

3 

3 

3 

18, 12 

14, 16 

() 14, 16 

3 

18, 12 

H055. yI a<b<2a 3iN a,b r 2a o HEyo q 

2 

(b) 

(d) 

() 

() 

Depends on input nature 

(b) 

(d) 

then the value ofx and y are: 

(a) 

() 
Q.56. Abag contains x white balls, 15 red balls andy black balls. Aball is drawn at random from the bag. If the probability that the drawn ball is white is 4 and drawn ball is 

(b) 

(d) 

() 

1022.38 cm 

(b) 

2039.68 cm 

15 

(d) 

1022.38 cm 

[12] 

2039.68 cm 

3q +2p 
6 

3p+2q 
6 

3q +2p 
6 

3p +2q 

3 

6 

Q.57. In how many category processes is Artificial Intelligence classified in: 

12, 18 

(r) 16, 14 

16,14 

12, 18 

15 

3 (Sensing, reasoning and acting) 

3 

HhHRT: p T g a t a qb HIT BTE: 



(a) 
() 2 

9060. 

(a) 

(c) 

Q.58. How many types ofrecognition are there in Artificial Intelligence: 

() 

() 

(c) 

() 

(a) New Delhi 

(a) 
(c) 

(o) 

5 

Q.59. Headquarters ofAsian Bank is Situated in: 

(a) 

2 

(c) 

5 

() 

2 

() 

Kathmandu 

Q.61. Mussoorie is situated in: 

Kerala 

West Bengal 

(a) 

(a) 

Himanchal Pradesh 

Gujarat 

(b) 

(d) 

(a) 

() 

Q.60. Which state in India is Highest Producer ofCoffee? 

(b) 

(d) 

(a) 

(E) 

(b) 
(d) 

() 

() 

(b) 

(d) 

(a) 

5 

() 

3 

[13) 

3 

1 

3 

1 

Manila 

Sri Lanka 

Aassam 

Karnataka 

Sikkim 

Uttarakhand 



Q.62. Which resolution was adopted at the'Lahore Congress Session' in December 1929: 

(a) 

(c) 

(a) 

() 

(a) 

(c) 

(a) 

() 

Q.63. Which ofthe following state do not have tropical deciduous forests: 

(a) 

temperature: 

() 

Civil Disobedience 

(a) 

Non Co-operation 

(c) Madhya Pradesh 

(c) 

() faTR 

() 

Jharkhand 

() 

Chhattisgarh 

(a) 

(c) 

Bihar 

Q.64. Which State of Bharat experiences hardly any difference in day and night 

River Indus 

(b) 

River Ganga 

(d) 

(E) 

1906 

1901 

(b) 

(d) 

(a) 

(a) 

Q.65. Zaskar, Nubra, Shyok, Huuza are the tributaries of: 

(d) 

(a) 

(a) 

(b) Kerala 

(b) 

(d) 

Purna Swaraj 

() 

Khilafat 

(b) 

Western Orissa 

(d) 

Rajasthan 

0.66. The imperial Forest Research Institute was set up at Dehradun in: 

[14] 

Gujarat 

River Tapti 
River Yamuna 

1905 

1904 



() 

() 

(a) 

(c) 

() 

(1) 

0.67. Who was the profounder of Scientific Management? 

(a) 

(c) 

() 

(a) 

(b) 
(c) 

(aa) 2017 

(d) 

(a) 

1906 

(a) 

1901 

() 
(a) 

Henery Fayal 

Q.68. Abhijit Banerjee got nobel prize in Economics in which year? 

Adam Smith 

(a) 

2017 

2021 

2021 

(a) 

() 

(b) 

(d) 

(a) 

() 

(b) 

(b) 

(d) 

(a) 

Q.69. In 2023 Nobel Prize in physiology or Medicine has been awarded to? 

(a) 

John Fosse and Pierre Agostini 

Katalin Karika and Drew Weissman 

Drew Weissman and John Fesse 

1905 

Katalin Karika and Picrre Aostini 

1904 

F.W. Taylor 

[15] 

Alfred Marshall 

2019 

2023 

2019 

Q.70. How many teams participate in 2023 ICC Men's Cricket World Cup? 

2023 

(c) 10 (d) 



9O70. 3T$Orftovîto qq �os Hs-2023 fdi drHt yftrHTT fh? 

(o) 

(a) 

(c) 

() 
() 

Q.71. Which Indian Chess player won silver in the world blitz chess championship in 
Kazakhistan? 

(a) 

(c) 

(a) 

() 

Gukesh 

Q.72. Thermometer:Temperature:: Glucometer: 

9072. gtR:AIgHI7::orer: 

Koneru Humpy 

Body Sugar 
Blood 

(a) 20 

(a) 

380, 188, 92, 48, 20, 8, 2 

(c) 

() 

(a) 20 

(a) 

(T) 

380, 188, 92, 48, 20, 8, 2 

9 

Q.73. Find the odd number in the given series: 

Maharashtra 

Gujarat 

(b) 92 

(a) 

(b) 

(d) 

92 

) 

(a) 

(b) 

(d) 

(a) 

(a) 

(d) 

() 10 

(a) 

Q.74. Which state of lndia has the longest mainland coastline? 

(a) 

Praggnanada 

[16] 

Viswanathan Anand 

farg31-1° 

Body Resistance 

Blood Sugar 

(b) Kerala 

(c) 

) 

48 

48 

Odisha 

(a) 

(d) 

11 

() 

2 

2 



Q.75. Musi and Bhima are tributaries of ... 

(a) 

(c) 

Y076. 

9O75. t sitr 

(+) 

(T) 

0.76. Baglihar Dam is constructed on 

(a) 

(c) 

() 
() 

(a) 

(c) 

(a) 

() 

Brahmaputra 
Kavaeri 

(a) 

Indust River 

(b) 

Sutlej River 

(c) 

0.77. Where was India's first 'museum' opened? 

(a) 2017 

(d) 

Delhi 

() 2017 

Rajasthan 

(b) 

(a) 

(b) 

2015 

The light startles them 

None ofthese 

(d) 

2015 

(a) 

(a) 

(b) 

(d) 

(a) 

() 

(b) 

Q.78. When was Pravasi Bhartiya Divas held in Varanasi: 

(d) 

(a) 

(a) 

.Iiver: 

Mahanadi 

They have a perfectvision in the dark 

Krishna 

river. 

[17] 

Q.79. What is the reason behind the Bats flying in the dark: 

Chenab River 

Ravi River 

Hyderabad 

Mumbai 

(c) 

() 

They produce high pitched sounds called ultrasonics 

2019 

2019 

(d) 

(a) 

2020 

2020 



(a) 

(a) 

() 
(a) 

Q.80. At which place on earth are there days and nights of cqual length always: 
(a) 

(c) 

() 

() 

(a) 

(c) 

() 

() 

Q.81. The Lakshadweep Islands are situated in: 

(a) 

(c) 

() 
() 

Equator 
Prime meridian 

(a) 
(c) 

Pacific Ocean 

Black Sea 

Proxima Centauri 

Q.83. Who wrote the Book'Pagal Khana.' 

Sirus 

(b) 

Jagdeep Dhankar 

(d) 

Dr. Gyan Chaturvedi 

(a) 

0.82. Which of the following stars is nearest to the sun: 

() 

(b) 

(d) 

(a) 

(a) 

(b) 

(d) 

(a) 
(a) 

(b) 
(d) 

Poles 

[18] 

No where 

Bay ofBengal 
Arabian Sea 

Deneb 

Betalgeuse 

R.N.Ravi 

Dr. Karan Singh 



HO83. gTS fotrgT? 

() 

YO84. 

() 

Q.84. "World Hindi Day' is celebrated on: 

(a) 

(c) 

() 

() 

(a) 

(c) 

(6) 

() 

(a) 

(c) 

() 

() 

11th January 

0.85. Chandrayaan-3 mission was launched on: 

14th January 

11 GaT 

(c) 

14 GTg 

Q.86. 'Euro Cup' is related to: 

() 

11th July 

13th July 

yeg-11 
yag-13 

Air Racing 

Q.87. Director offilm 'Pathan' is: 

Horse Racing 

(a) Aditya Chopra 

(a) 

Siddharth Anand 

(a) 

(b) 

(d) 

(a) 
(a) 

(b) 

(d) 

(a) 

(u) 

(b) 

(d) 

(a) 

() 

(b) 

(d) 

() 

() 

[19] 

11th September 

14th September 

11 MTR 

14 fER 

12th July 

14th July 

yeg-12 
ge-14 

Football 

Table Tennis 

Deepa Mehta 

ShabanaAzmi 



Q.88. How much litre ofblood is present in normal adult male: 

(a) 

(c) 

(a) 
() 

(a) 

(a) 

(a) 

(b) 

(c) 

(d) 

() 

(E) 

Q.89. In the following letter series, one letter is missing as shown by question mark 
Select the missing letter: 

Q.91. Paisa 

(a) 

4 litre 

(c) 

6litre 

TO91. tT 

4 Aler 

(n) 

6 fer 

() 

D, G, K, ?, V 
P 

() 13 

(a) 32 

D, G, K, ?, V 
P 

13 

Q.90. How many triangles are there in the given figure: 

32 

21 

24 

21 

24 

Rupee 

(b) 

Metre 

Quintal 

(a) 

R 

(b) 

R 

(d) 

(a) 

() 

5 litre 

(b) 

7 litre 

5 fer 

7 efter 

[20] 

(c) L 

() L 

Kilometre 
Hectometre 

(d) Decametre 

() teter 
() aAer 

(d) 

() 

M 

M 



Q92. Choose the next one: 

(a) 

(c) 

(a) 

(a) E,V 

(c) 

() YE, 

() 

() 

ZA, YB, XC, W,D, 

(a) 

E,V 

(a) 

YE, 

ZA,, Y,B, XC, W,D. 

(a) 

(c) 

0 93. If Rahim moves 20 meters in East direction and then turns to this left and then 
moves 15 metres and then the turns to his right and moves 25 metres. After this 
he turns to his right and moves 15 metres. Now how far is he from starting point. 

40 metre 

0.94. Choose the correct option: 

25 metre 

40 1cr 

25 er 

8, 28, 116, 584, 

1752 

8, 28, 116, 584, 

1752 

(b) 3504 

(a) 3504 

Algorithm 

(b) 

Computerprogram 

(d) 

(a) 

(a) V,E 

(b) 

Q.95. The list of coded instructions is called: 

(d) 

(a) 

(E) 

(b) 

V,E 

(d) 

VE, 

(21] 

VE, 

50 metre 

45 metre 

50 1er 

45 er 

(c) 

() 

3508 

3508 

Flow chart 

Utility program 

(d) 3502 

() 3502 



() 
() 

Q.96. Who invented the 3D printer: 
(a) 

(c) 

() 

() 

(a) 

(c) 

() 

(a) 

(r) faetft 

(c) 

Nick Holonyank 
Chuck Hull 

Q.97. Which ofthe following vitamins serve as a hormone precursor: 

Q.98. Humayun was born in the year: 

(a) 

Vitamin A 

(b) 

Vitamin D 

(c) 

(d) 

faef-s 

(aa) 1508 

() 1708 

1508 

1708 

Iltutmish 

Quli Qutub Shah 

(a) 

Mohammad bin Tughlaq 

() 

Firoj Shah Tughlaq 

(b) 

(d) 

(a) 

(a) 

(b) 

(d) 

(a) 

(a) 

(b) 

(d) 

Elias Howe 

(a) 

Christian Huygens 

Q.99. Which ofthe followingruler issued copper coins named Jital: 

[22] 

Vitamin C 

VitaminK 

faerftf 

1608 

(a) 1608 

1808 

1808 



MO99. 

(*) 

(a) 

() 

(a) 
Q.100. The famous Lucknow pact of 1916 was signed between: 

(a) 

(b) 

(c) 

(d) 

(5) 

Bal Gangadhar Tilak and Mohammad Ali Jinnah 

TO100. gTG HHTT 1916 fchHco a z3? 

(a) 

() 

Mahatma Gandhi and Muhammad Ali Jinnah 

(a) 

Balgangadhar Tilak and Aga Khan 
Mahatma Gandhi and Aga Khan 

(23] 



NAME 

CATEGORY: Junior (J) 

Q02. 

AB C D 

Q01.OOOO Q26.OOOO Q51. OOOO Q76. 
O Q27.O OO0 Q52 

Q06. 

Q03. OOOO Q28. C 
Q04. O O 
Q05. O 

Q07. 
Q08. 
Q09. 

Q10. 

Q16. 

ANSWER SHEET / 3AR Yo 

Q17.OO 

OOO Q35. 
Q11. OOO0 Q36. 

Q18.O 

Q12. OOO( Q37. 

Q19. O C 
Q20. () 

Q21. O 
Q22. 

Q31.O O 

O Q29. O OOO Q54. 
O Q30. OC 

Q32. 

Q23. 

024. OOC 
Q25. OOO0 

AB C D 

OOO Q57 
Q33. O OO0 Q58. 
Q34. OOO0 )Q59. 

Q13. OOO0 Q38. O OC 
Q14. O OO0 Q39. OO0O Q64. 
Q15.O OOO Q40. OOOO Q65. 

OOOO Q41. OO0O Q66 
Q42. OOOO 
Q43. ( 
Q44. 

Middle (M) 

Q45. O 
Q46. 

Q52. O 
Q53. O 

Q47.( 

Q55. O 
Q56. 

Q60. 

Q58.O O 

A B CD 

Q61. O 
Q62.( 

Q63. 

) 

Q67. 
Q68. 

DO00000 

Q69. 

Q70. O O 
Q71. O C 

ROLL NO. 

Q77.OC 
Q78.O O 

Q79.( 

Q87. 

Q80. OOOO ( 

Q81. OOOO ( 
Q82. OO0O 
Q83.O OOO 

Q84. OOOO 
Q85.OOO0 
Q86.OOOO 

Q88. 

Q92. 

Q89. OOOO 
Q90. OCOO 
Q91. OOOO 

Q93. 
Q94. 

Senior (S) 

AB CD 

Q95. 

)Q96. 
Q72. ( 

Q48.) OOOO Q73.OOO0 Q98. 
Q49.O OO0 Q74. OOOO Q99. 

Q50.OOO Q75. OOOO Q100.O OOO 

Q97. 



{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

